
Number System 
Ex. 1.5
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Ex - 1.5

1.① 2-B

= 2- 2.236 - - - - -

= O ' 764 - - - -- -

Since it is a non - terminating non- reheating
decimal

:
.

2 -B is an irrational number .

④ (3-1273)-523
= 3

Since it is a terminating decimal
i. (31-525)-525 is a rational number .

④2€
775

=±r¥± [ :# = Fae]
= 2-7×1

= ¥ ,
which is in the form of Pj , where Pandey
rare integers and q≠o

:
. is a rational number .

④ ¥
Rationalising the denominator

¥ ✗¥

= E-

=

1.41z42 = 07071 - - - - -
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Since it is a non- terminating non - repeating
decimal .

i. ¥ is an irrational number .

① 21T

= 2×3-142 - -- -

= 6.284 - - - - -

Since it is a non - terminating non- reheating
decimal .

i. 21T is an irrational number .

2 ① (3-15) (2+52)
=3 (2+52) + B (2+52)
= 6+352-1253+56

④ (3+5) (3-B)
= (3) 2- (B) 2 [

'

.

' (at b) la -b) = a2 - b)
= 9- 3

= 6

④ Irs +E)
&

= (B) 2-1 (F)22+2(B) (E) [ :(a +b)2= at b2 -12all
= 5-12-12 Fo

= 7 + 2510

④ CB - E) (Btr)
= (B)2 _ (G)

2 [ : Ca - b) @ +b) = a2 -b)
= 5 -2

= 3
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3- IT = C-
d

There is no contradiction . When we measure any

length with a scale or any other device,
we only get an affvwseimate rational value .

We do not realise that either
'
e
'

er

'

d
'

is irrational .

4. V9.5
↑ ↑
i :

"

< a
i',

"
'

'

:

y
'

0 1
{ E ;

☒

Steps of construction i
1. Draw AB = 9- 3 units -

↑

2- Draw BC= 1 unit - I

3- Draw perpendicular bisector of AC intersecting
AC at point 0 .

4. with 0 as centre and radius = 0A nor 0C,
draw a semicircle .

5- Draw a herhendicnlar at point B intersecting
the semicircle at point D.

G. With B as centre and radius = BD
,
draw

an arc intersecting the number line at point
E.

7. Markt point B as O and C as 1 .

8- With radius = 1 unit
,
in arcs on the
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number line rehhesenting 2,3, 4 etc .

9. Point E represents 59-5

Justification -
constructions- Join OD -

AB = 9.3 units

BC= 1 unit

AC= AB -1 BC

= 9.31-1

= to -3 units

0A = 0C = OD = ¥ ( each = radius)

or 0A = 0C = OD = 10-23 units - ①

OB = 0C - BC

= 10-2-3 -1

= 1o3
or OB = 8¥ units - ①

Using Pythagoras theorem in OBD

ODZ = OBZ -1 BDZ

or (10--23)^2=(8-21)
'

+ B.DZ ( using eq - ① and④)

or (10-23)
≥

- (8--23)
2
= BDZ

oh

,

(102-1-8-32) (103--8-2-3) = BDZ [ : a2 -b-= @ +b) Ca -BD
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or t8 ✗ 2¥
,
= BDZ

or 9.3 = BD
'

Taking square root on both sides

BD = V95

Hence justified .

5-① 1-
F-

Rationalising the denominator

⇐ ✗ ¥
= ¥

④ ¥6
Rationolising the denominator

¥ñ×¥±⇒
=

[:@ - b) @ +b) = a≥ -ed
=

= 57,1¥
= Ftr

④ ¥+2
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Ratiomalising the denominator

¥ñ×F
= ¥sÑ [ :@ +e) @ - e) = a- - b)
=%
= B-3I

④¥

Rationalising the denominator

¥-2 ✗ FEI
= (¥TÉÑ [ :(a-b) @ +b) = a2-b)
= FTI

7- -4

= 57-+31
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